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1. Attempt ALL questions. 

2. You MAY NOT use a calculator. 

3. Write your solutions on the blank paper provided. 

4.  Full credit will be given only where the solution contains appropriate working. 

5. Square-ruled paper will be provided if necessary. 
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Formula Sheet 

 

The roots of    ax2 + bx + c = 0  are  x = 
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Sine rule:   
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Cosine rule:   a
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Area of a triangle:  Area = ½ ab sin C 

 

Volume of a sphere:  Volume = 3
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Marks 

1. Factorise fully each of the following: 

 

 a) 31612 2  xx  2 

 

 b) 455 2 x  2 

 

 

 

 

2. Solve the inequality:    )83(25  xx  3 

 

 

 

3. Find the equation of the line which passes through the points (4, 6) and (–2, 3). 3 

 

 

 

4. Evaluate:     3
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5. Evaluate:     4
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6. AD is a diameter of a circle, centre O. 

 

 B and C are points on the circumference of the circle. 

 

 Angle CAD = 25° and angle BDA = 46° 

 

 Calculate the size of angle BAC.  
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Marks 

7. The equation 033 2  kxx  has equal roots. 

 Find the value of k given that k > 0. 4 

 

 

 

8. a) Multiply out the brackets and simplify )73)(2( 2  xxx  3 

 b) Hence or otherwise express 32 )73)(2( xxxx   in the form bax  2)( . 3 

 

 

 

 

9. Vectors a and b have components as follows: 
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Calculate the magnitude of the resultant vector 2a – b 

leaving your answer as a surd in its simplest form. 4 

 

 

 

10. Express  
53

5
   with a rational denominator in its simplest form. 3 

 

11. Simplify:     
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12. Triangle ABC has dimensions as shown. 

 Given that the exact value of cos x
o
 is 

6

1
 . 

 Calculate the length AB. 
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   Total Marks:  40 

End of question Paper 
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